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Instruction for Question Nos. 21 to 25.

Read the following passage carefully and answer the
questions that follow.

Travel, in the younger sort, is a part of education; in
the elder, a part of experience. He that travelleth into a
country, before he hath some entrance into the language,
goeth to school; and not to travel. That young men travel
under some tutor or grave servant, I allow well; so that
he be such a one that hath the language, and hath been
in the country before; whereby he may be able to tell
them what things are worthy to be seen in the country,
where they go, what acquaintances they are to seek,
what exercises or discipline the place yieldeth; for else
young men shall go hooded and look abroad little. Itis a
strange thing, that in sea voyages, where there is nothing
to be seen but sky and sea, men should make diaries;
but in land travel, where in so much is to be observed,
for the most part they omit it; as if chance were Pitter
to be registered than observation; let diaries, therefore,
be brought in use. The things to be seen and observed
are. the courts of princes, especially when they give
audience to ambassadors; the courts of justice, while
they sit and hear causes.

21. Who tells about the things to be seen in the
country one is travelling ?
(a) young men (b) elder people

(c) tutor (d) stranger

What is NOT important for travelling in a country ?
(a) knowledge of the language of that country
(b) diary
(c) company of a person who already knows

the place
(d) company of the family members

The grave servant accompanying the traveller
must have
(a) already visited the country of the travel
(b) acquaintance with reputed persons
(c) undertaken sea voyages
(d) knowledge of keeping diaries

One should visit the courts of princes when the
princes are

(a) dinning with ambassadors

(b) listening to ambassadors

(c) instructing the ambassadors

(d) talking to ambassadors

Who learns from travelling ?
(a) old persons (b) tutor
(c) young men (d) grave servant

22.

23.

24.

23,

26. Choose the correct part of speech/word class of the
word “interesting” in the following sentence.
This book is interesting.

(a) auxiliary (b) adverb

(c) adjective (d) noun

b | ol
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27.

28.

29,

30.

31

32.

33.

34.

35.

AR

Fill in the blank in the given sentence
choosing the correct option.

Put the clock, it is twenty minutes fast.
(a) up (b) down
(c) off (d) back

Which of the following is wrongly spelt ?
(a) Hopeful (b) Truely
(c) Wholly (d) Awful

Change the following sentence into a simple
sentence.

“The Institution is as bad as it could be.’

(a) The Institute is thoroughly bad.

(b) The Institute is so bad that we cannot live.
(c) The Institute is too bad to say anything.
(d) The Institute is not only bad but also good.

Choose the correct meaning of the Phrase
“Zero hour”.

(a) 12 O’ clock at night.

(b) The hour when an operation begins.

(c) The hour when the sun rises.

(d) The hour when the sun sets.

Correct the following expression.

Both he as well as his son were present.

(a) Both, he and his son, was present.

(b) Both of them he and his son were
present.

Find out the correct indirect narration of the
magnificent!”
John looked at the Taj and exclaimed with
(c)
magnificent.
This Pen is much _____ than that.
Select the word as an appropriate meaning for
(b) One who creates works of art.
Change the given sentence into passive voice.
(b) He loves everyone.

(c) Both he and his son were present.
(d) Both he and his son has been present.
following direct speech.
John looked at the Taj and said “How
(a) John looked at the Taj and told that how
magnificent it is.
(b) . ! :
surprise that it was very magnificent.
John looked at the Taj and asked that how
(d) None of the above
Choose the correct option.
(a) cheaper (b) more cheaper
(c) the cheaper (d) cheapest
the given word ‘Vandal’ from the following.
(a) One who destroys works of art.
(c) One who does not mix freely with others.
(d) One who is present everywhere.
Everyone loves him.
(a) He is loved by all.
(c) He was loved by everyone.
(d) He is loved by everyone.
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37.

38.

39:

40.

41.

i

How many numbers from 11 to 50 are divisible

by 7 but NOT by 3 ?
(a) 2 (b) 4
() S5 d) 6

A isricher than B, C is richer than A, D is richer
than C, E is richest than all. If they are made to
sit in the above degree of richest, who will have
the central position ?

(a) A (b) B

() D d) C

InaZoo, there are rabbits and pigeons. If heads
are counted there are 200 in all and if legs are

counted there are 580 in all. How many pigeons
are there in the Zoo ?

(a) 920
) 121

110
130

(b)
(d)

In which of the following decision making style
low tolerance for ambiguity is found ?

(a) Analytical style (b) Conceptual style
(c) Directive style (d) None of the above

According to “communication as interaction”
perspective, feedback is

(a) never intentional.

(b) always intentional.

(c) seldom useful.

(d) sometimes unintentional.

[n case of complex problems group performance
is higher in
(a) Centralized network

- (b) Restricted network

42,

43.

(c) Problem oriented network
(d) Decentralized network
A sum of ¥ 12,000 deposited at compound

interest becomes double after 5 years. After
20 years, it will become

(a) ¥96,000 (b) 1,20,000

(c) ¥ 1,24,000 (d) ¥1,92,000
Choose the odd one out.

(a) BD®6 (b) FH 14

(e} JI. 22 (d) NP3l

What are the barriers to effective communication ?

(a) Moralising, being judgemental and
comments of consolation

(b)
(c)

Dialogue, summary and self review

Use of simple words, cool reaction and
defensive attitude

Personal statements, eye contact and
simple narration

(d)

L
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36.

37.

38.

39.

41.

42,

43,

44,
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45.

46.

47.

48.

49.

50.

A group effort of generating alternative ideas that
can help a manager solve a problem is called

(a) The Delphi technique

(b) Out of the box thinking

(¢) The nominal group technique
(d) Brainstorming

Consider the statement :
Do Scientists believe in religion ?

I. Yes, because science, a profession,

does not come in the way of faith.
II. No, because reason and faith do not go
" together.

Codes :

(a) Onlyl (b) OnlyII

(¢) BothIandII (d) Either I orII

If ROSE is coded as 6821, CHAIR is coded as
73456 and PRECH is coded as 96143, what will

be the code for SEARCH ?
(a) 214673 (b) 214763
(c) 264173 (d) 216473

Which of the following does NOT characterize

grapevine ?

(a) There is freedom to move in any direction,

(b) Itis likely to satisfy group members social
needs.

(c) Itiscontrolled by management.

(d) Itis largely used to serve the self interests
of people in it.

The context of face-to-face communication is

(a) Archetypes

(b) Synchronous
(c) Asynchronous

(d) Both synchronous and asynchronous

Given that

A is the Brother of B
C is the Father of A

D is the Brother of E
E is the Daughter of B
Then, the uncle of D is

(a) A
¢ C

(b) B
(d E

45.

46.

47.

48.

49.

50.
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> 521+ 1 January 1995 was Sunday. What day it was 5L | SHa 1995 & tfyaw 97 | 41 | SHad 1996 &1
j‘{ on I January 1996 7 BT g o7 7
(a) Sunday (b) Monday (a) MEEw (b) HWHaR
(c) Wednesday (d) Saturday (c) guar (d) wiffEm

52. Which of the following statement js NOT correct ? 52.  aiifafea # & F—a1 s g TE R 7

(a) All men are morta]. () @t WSy Teoefier )

(b) Some elephants have trunk.

(b) F® wferit % g e §
(¢) No man is perfect. (c) =18 s ‘IPf T R
(d) All roses are red. (d) a3t eI e )
3. Choose the number which is different from others. 53. I HEnet & firs gy G MY |
(a) 27 (b) 64 ; (a) 27 (b) 64
(c) 125 (d) 144 (c) 125 (d) 144

54. Consider the following statements regarding

54. foreht wog a1 we B e ¥ s e /i
major function/functions of communication

40 %aﬁﬁﬁnﬁvﬁawﬁmﬁmﬁﬁm
within a group or organization, ; l. I8 gee %Wﬁﬁﬂﬁaﬂﬂm% |

2 oot 2 T8 v e et

3. It provides emotional expression of 3. mmaﬁﬁmﬁnmaiﬂarﬁwm

feelings, T A § |

4. It facilitates decision making, 4. T8 fiola 3 # gew s @
Select the cormect answer using the codes given below : R 1 I R g 7 IR g
Codes: T
(a) 3 alone (b) 2,3and4 (a) e 3 (b) 2,37Mm4
(¢) 2and3 (d) 1,2,3and4 (c) 2dur3 (d) 1,2, 3794

355. If in a certain code COMPUTER is written as 55. ufy feet Arfeyg FEg § COMPUTER #}
BNLOTSDQ, then which of the following code

BNLOTSDQ feran s 8, at frffas # &
would be written for SOFTWARE 7 e SOFTWARE # e férar smm 7
(8) RNESVBQD (b RNESABQD (a) RNESVBQD  (b) RNESABQD
() RNESABCD  (q) RNESVZQD

(¢) RNESABCD (d) RNESVZQD
56. Select the one which is different from the other

4 56. I8 Y S o o @ Ry 8
three.
(a) 398 (b) 579 (a) 398 (b) 579
(c) 885 d) 696 (c) 885 (d) 696
57.  Another name for interpersonal communication is 57. mﬁqﬁmmm@ F AR R
(a) Mass communication (a) S FE§o
(b) Dyadic communication (b) TeeF gy
(¢) Triadic communication (c) FgTcHs ey
(d) Permissive communication (d) SFFIT Ty
58. In interpersonal communicatiorzi the functions 58. aﬁéqfﬁa;@qWﬁ@m—m%mﬁqﬁaﬁ%
of source-receiver are performed by
(2) Other individual (b) Each individual @ TR HT (b) 3 = 7w
(c) Third party (d) Neutral party ©) TRIEFEN  (d) T F I
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62.

63.

64.

65.

66.
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A mother is 4 times as old as her daughter and
the father is 5 times as old as his daughter. The
sum of mother’s and father’s age is 135 years.
What is the age of daughter ?

(a) 10 years (b) 15 years

(c) 20 years (d) 25 years

Which term is used for communication through
colours ?

(a) chromatic

(b) monochromic schedule

(c) polychromic schedule

(d) chronemics

An individual’s ability to communicate
effectively with others is called

(a) Interpersonal reframing

(b) Interpersonal dualism

(c) Interpersonal competence

(d) Interpersonal comfort

When you become “other oriented”, you

(a)

consider needs, motives, desires of others
while maintaining your own integrity.

(b)
(c)

encourage others to give you direction.

take a submissive position in your
relationship with others.

(d) assume that others are always right.

Raman runs faster than Mohan, but not as fast
as Kareem. Kareem runs faster than Suman, but
not as fast as Abhinav. Who runs fastest ?

(a) Raman

(b) Mohan and Kareem

(c) Abhinav

(d) Suman

An overriding element of consideration in all
interpersonal communication is

(a) Flexibility (b) Abstraction

(¢) Displacement (d) Context

For any two sets A and B, A - (A-B)equalsto
(a) AnB (b) A-B

(c) B (d AuB

Which one of the following may be harmful in
terms of effective decision-making by the group
members ?

(a) Extreme cohesiveness

(b) Commitment for the goal

(c) Honesty and credibility

(d) Effective training and experience

59.

60.

61.

62.

63.

65.

66.
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68.

69.

70.

71.

72

73.

74.

73,

The difference of median and mode of the
following data :

25, 33, 72, 65, 29, 60, 30, 94532 53, 42,
32, 42, 51, 42, 48, 45, 47, 46, 33 is

(a) 3.5 (b) 4

(c) 2.5 (d) 3

In which century February will have 29 days
from the following ?

(a) 2213 (b) 2300
(c) 2215 (d) 2517

If the cost price of 10 shirts is equal to the selling
price of 08 shirts, then which of the following
is true for the transaction ?

(a) Profit of 25% (b) Loss of 25%

(c) Profit of 20% (d) Loss of 20%
Choose the odd pair.

(a) Bottle — Wine (b) Ball - Bat

(e} Cimpyy= (d) Pitcher — Water
Each of the sides of a triangle is 4 cm less

than the sum of its other two sides. Area of the
triangle (in cm?) is

(@) 243 (b) 443
(©) 242 d) 442

The first step in decision making is to
(a) establish priorities

(b) establish specific goals

(c) identify and define the problem
(d) determine courses of action

Tea

Two numbers are such that their sum, difference
and product are in the ratio 5:1:18. The difference
of their squares is
(a) 36
(c) 42

(b) 45
(d) 54

If x — 2 is a factor of polynomial x3 + 4x2— 3x — 18,
then its other factors are

(& x+2,x+3 (b) x=3,x+1

€ x+3,x+3 d x+1,x+2

That new student says that T am his favourite
professor and he must be telling the truth, because
no student would lie to his favourite professor.
Identify the fallacy involved in the passage.
(a) Complex question (b) Accident

(¢) Petitio principii (d) False cause

67.

68.

69.

70.

71.

42,

73

74,

75.
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frefafea srst

25, 33, 72, 65: 29, 60, 30, 54, 32, 53, 42,
52, 42, 51, 42, 48, 45, 47, 46, 33 S

T TG T AW

(@) 3.5 (b) 4

() 2.5 (d) 3

fR=friad o & v wraredt 3 et 8 20 R 2 7
(a) 2213 (b) 2300

(c) 2215 (d) 2517
HﬁIOWWWWOSWﬁGﬁ%ﬁWW%
TR, A Frforftad § & B @ A A a2 7
(a) 25% 1T (b) 25% %t gl

(c) 20% =1 (d) 20% $r =z
forem m = g |

(a) sae - \fgw (b) T - e

(c) 9 -9M (d) w1 - Mt

T el i &% o sl o S el
T % AT H 4 F A, FH R | By o S
(FH.29) 2

(@) 243 (b) 43

(€)i25 d 42

fFofar 99 =1 vgen o @

(a) ufRarait s wnfia s
(b) fafire wet =t wonfie @

(c) HHEAT I TE=HHT T TRHTR T
(d) ﬁldiaiﬁdiﬁﬁq‘fﬂam

aéwiwm%ﬁaﬁan,aim@m
5:1:18 % 3rgura & € | 373 ol a7 arw B

(a) 36 (b) 45

(c) 42 (d) 54

3fe 5T x> + 4x2 - 3x - 18 F1 THTIAETE x - 2
?, Tl 38 1= uFTEve §

(@ x+2,x+3 b x-3,x+1

() x+3,x+3 d x+1,x+2

& 1 S et 8 o A 3w i srens § ik
3G A1 AT & G B, iR 1S oft el
1 Tt e @ it 313 e st |

e # e ahey = ge=ifi

(a) B IH (b) e

(c) e (d) Tz o
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76.

78.

79.

80.

8l.

82.

1

In a test in Mathematics, 20% of the students
obtained “First class”. If the Data are rzpresented
by a Pie-chart, what is the central angle
corresponding to “First class™ ?

(a) 20° (b) 36°

(c) T2 (d) 144°

The total number of triangles in the following |
figure :

(@) 15 (b) 12

(ey=13 (d) 16

Which factors influence the choice of
communication partners ?

(a) Proximity, utility, loneliness

(b) Utility, secrecy, dissonance

(c) Secrecy, dissonance, deceptior
(d) Dissimilarity, dissonance, deviance

The length of a parallelogram is 17 cm and its
width is 11 cm. One of its diagonal measures
26 cm. The length of the other diagonal is

(a) 12cm (b) ld4cm
(¢) l6em (d) 17cm

Find out the missing number from the following
series.

3,5,5,19,7,41,9,?

(a) 61 (b) 71

() 79 (d) 69

The HCF and LCM of two numbers ure 12 and
144 respectively. If one of the numbers is 36,
the other number is
(a) 4

) 72

(b) 48
d) 432

Which of the following decision making
technique involves structured rules for
generating ideas ?

(a) Brainstorming

(b) Delphi technique

(c) Nominal group technique

(d) Ordinal group technique
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77

78.

79.

80.
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AR A -

nifora <) e Tl &, 200% BT WUH AR T
Fad | af ou T O = (FeRa) T e
i ST 2, A “we Ao’ 3 T Hd i
FE?

(@) 20° (b) 36°

() 72° (d) 144°

12 A 7 anapfa A et b B € 2

(a) 15 (b) 12

(e)=13 (d) 16

o st s = R R g wEE
BT g ?

(a) wif=rea, SRR, T
(b) ST, T[T, STHATIRET
(c) T, e, o

(d) T, srdafear, faae

e e s = e 17 6., & ol 3wt
ehraré | 1 &, & | s ek oot <t 26 & o

R g o o e &

(a) 2@, (b) 14 @,
(c) 16#. (d 178

Pt 3w H e ST I AT |
3,5,519,7,41,9,?
(a) 61
() 79

(b) 71
(d) 69 .

2 dearatt #1 HCF 3t LCM s 12 3R 14+
3 | 9z v wE 36 B, @ g6l v @

(a) 4 (b) 48
(c) 72 (d) 432
| Praffiaa 1§ @ frg frokr fmtor qedtss & faem
1 9rTer 23 ¥ fore gifa fam aafea a2 7
(a) TSR
(b) bl aEAIR

(c) s W THAIH
(d) i THE THFATH
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84.

85.

86.

87.

88.

89.

90.

If radius of a circle is increased in such a way
that its circumference increases by 10%. Area
of circle will be increased by

(@) 10% (b) 12%

() 21% (d) 24%

The mental function which does NOT help in
problem solving is

(a) Hypothesis formulation

(b) Functional fixedness

(¢) Insight

(d) Means-end analysis

The expression 2x3 + x2- 2x — 1 is divisible by
(a) 2x+3 (b) 2x+1

{£) 2x -3 (d) 2x-1

Vikas ranks 18" in a class of 49 students, What
is his rank from the jast 7

(a) 19 (b) 31

(¢) 32 (d) 33

Statement : Should school education be made
free in India 7
Arguments : 1. Yes, this is the only way to
improve the level of literacy,
II. No,it willaddtothealready heavy
burden on the exchequer,

Select the correct answer from the codes given
below :

(4) Only argument I ig strong,

(b) Only argument 11 is strong.

(€) Neither argument I nor 1 is strong.

(d) Both argument I and I are strong.

Ratan is 40 metre South-West of Pawan. If Lalan
is 40 metre South-East of Pawan, then Lalan is
in which direction of Ratan ?

(a) West (b) North-East
(¢) South (d) East

Which one does NOT belong to the following group ?
(a) Eyes (b) Ear
(c) Tooth (d) Chin

What is the median of the numbers 4.6, 0, 9.3,
=4.8:71.6,2.3 127, 35,82,6.1,39,527

(a) 3.8 (b) 49
fe) 5.7 (d) 6.0

83.

84.

85.

86.

87.

88.

89.
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Hﬁ@wﬁﬁwﬁq&mmﬁ?ﬁ%%m
w&fixﬁw%eﬁ?q%a’taﬁt@ﬂmrﬂamﬁm
e sgm ?

(2) 10% (b) 12%

(©) 21% (d) 24%

at:aﬁ?—?ﬁmqﬁm;mzf%aﬁmmmﬁ
HEgE At gl @ ?

(a) fFeyat Py

(b) YFHrEfeas fema

(c) Iragfee

(d) @EF-Te fyvsyoy
W2x3+x2-2x-—lﬁﬂm%

(@ 2x+3d (b) 2x+13

() 2x-37 d) 2x-13
ﬁmmgma’fﬁ@a;mﬁls&mm%mf@ﬂ
B ITH F TR 7

(@ 19 (b) 31

(c) 32 (d) 33

SR & 1 AR gt v e i S e 7
wh s 1 o, wemen % R A gurd
LeziE ke of
IL. 78, il 312 vt vgd & 0 urt) iy
afit afirss g o |
m%ﬁwzﬁw:mgﬁm:
(a) Fae s | ot B)
(b) et e 11 yaer )
() A7 a1 a7 o 11 yaw B
(d) 3t o 1 e 11 e
m,m%mﬁaﬁw—vﬁaﬁewﬁm,

95 % 40 whet afdyon-ud 8 8, 1 e, T 3 P
2 ?

(a) ufvam (b) IW-yd
(c) aftqm @ &

Pretfiefan T & a5 7 2 7

(a) ¥f@ (b) FA
(c) @i (@) g&
@it 4.6,0,9.3, ~4.8,7.6,23,12.7,3.5,82,
6.1,3.9, 52 Hr mfcm g 2 7
(@) 38 (b) 4.9
(c) 5.7 d) 6.0
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91,

92.

93.

94.

95.

The essence of decision making is

(a) Problem solving

(b) Choosing between alternatives

(c) Developing alternative course of action
(d) Monitoring

The following Pie-chart shows daily hourly
distribution of various activity (in degree) of
student. How much time (in %) does he spend
in game in comparison to sleeping ?

(a) 10 (b) 20
(c) 25 (d) 30

The study of temporal communication is known as
(a) Proxemics (b) Kinesics
(c) Paralanguage (d) Chronemics

Consider the following statements :
There are six villages A, B, C,D,Eand F
Fis 1 km to the west of D

B is 1 km to the east of E

A is 2 km to the north of E

C is 1 km to the east of A

Dis 1 km to the south of A

Which three villages are in line ?
(a) ACB (b) A,D,E
vikey S BLF (d) E,B,D

The sum of the three prime numbers is 100. If
one of them exceeds another number by 24, then

one of the other number is
(@) 7 (b) 29
(c) 43 (d) 61

(R

91, fiofa e FERR »
(a) T GHIIH
(b) Toreredl % W W F
(c) erfea frenfafes 1 foshfea

(d) A

0y i - v frndl 1 s e
et 1 e Tud & He (Reefh ) wwien & |
% T ) T o ok S (9 ) foramen & ?

(a) 10 (b) 20
(c) 25 (d) 30

93, SRR TRl ST ST AT S
(a) SraRifeE & &9 H (b) FIEATEE F T H
) TERNFEIH (d) PrRfEE FEIH

94, Sefifad FeAT T fEEm AT :
A.B,C,D,E @1 F®: Tid &
D¥F | fEut. afRm A F &

E¥ 1. @ABR
EF2fFdfl.smAAR
A¥ | fFA EACR
A% |t eRmAD?
T AT T AT o e e E
(a) A.C,B (b) A,D,E
() C,B,F (d) E,B,D
05, s GETR F AN 1007 | AR IS T
T T W 24 e Y, A 3 & gl wen R
(@ 7 () 29
(c) 43 d) 61




H{!Lﬂlllﬂllﬂlﬂlflﬂlﬂﬂlﬂw NJL-2 - 19

96. The Golden Rule is basic to every system of ’ 96. T w - oy ﬁquﬁﬁ’a‘m I T yomeh
ethics ever devised and everyone aceepts it in ﬁﬁH?ﬁT% ik
St el P i ey
some form or other- Itis, therefore, undeniably 2| a7 T® WW#W%W 2
sound moral rinciple
It involves the fallacy of o qEa &
(@) Argumentum ag Populum (a) P
(b) Argumentum ad Verecundiam (b) TS S
(¢) Argumentum ad Misericordjam () A=
(d) Argumentum ad Ignoratiam (d) SIS
97.  Which one of the following is NOT a rule 97. ﬁq%%aﬁﬂﬁq_m@ﬁmﬁuﬁ;%qﬂumtﬁ
for estimatings the subjective probability of %W% STIHH BT g 7 2 7
outcomes of any decisjon 2 oS '
(a) Assessing utility (a) T AT
(b) Representativeness (b) wfcFrerenamar
(c) Avai]ability (c) 39=eqr
(d) Adjustment (d) IfriST
98.  Argument . 98. Il
All Indians are religious. Tt YRy ey 2l
All Painters are religious, a4t O il 2l
< All painters are Indians. < At U ey gl
Itinvolves the fallacy of : T ffRT adery 2.
(a) Division (a) fau
(b) Existential (b) wwTeH=
(¢) Undistributed middje (©) 7T Ay v
(d) Four terms @ =g
99. If in a certain code *DATE’ is written as [ gg uﬁ%mﬁﬁ%’amﬁ DATE' ! ‘WZGV’ Rt
‘WZGV’, then which of the following code ST 8, ﬂﬁﬁ%ﬁaﬁﬂﬁmmﬁ ‘COME’
would be written for ‘COME’ ? 3 ST EFATR 7
(a8 XLNV (b) LXNV (@) XLNV (b) LXNV
(c) VNXL (d) XLVN () VNXL (d) XLVN
100.  What X in second figure ? 100. Wi d xwye?
119 174 184 119 174 184
1729721 X |18 23 | 24 17 | 21 X |18 23 | 24
(@) 26 @ 26
(b) 27 (b) 27
(c) 28 (c) 28
(d) 29 1 (d 29
A 13-
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E b |
1CODE : NJL-2-19 2019 |
ISUB SERIES |
| GENERAL STUDIES - 11 |
| A |
|Time . 2 Hours Max. Marks : 200|
1 Write your Roll Number In numbers [_’ \ \ J |
| g ("““"‘ !
in the box In words |

To mark Answer use Black Ball-point Pen only.
Candidate must read all the instructions before writing the answers.

I vou are to mark your answer on Answer-Sheet only. After the examination is over, handover the
- original Answer-Sheet to the [nvigilator.

IMPORTANT IN STRUCTIONS

_ Answer all questions. All questions carry equal marks.

1
] 2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on thel
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and the candidate will be solely
responsible for it.

3. This Test Booklet contains 100 questions. Each question has four (4) options which are given
| belowthe questions. Only one option is correct out of four. You are required to darken the circle |
corresponding to the alternative which you consider to be the correct or most appropriate answer

in the Answer-Sheet by Black Ball-point Pen.

|
4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space
1  for rough work given in the last WO pages of Test Booklet. |

i 5. If you happen to find that the Booklet issued to you does not have all the pages progerl‘)(f printed or |
ist as anydogmc&' deficiency, then you need to approach the Invigilator to get another Booklet of same
eries and Code.

| 6. In this question booklet questions are printed in both English and Hindi languages. In case of any
1 ambiguity in the question the English version of the question shall Prevail. |

7. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE |
IN THE ANSWER SHEET.

LR

|
R
|
[
|
[
|
[
»

TVAS

(i) There are four alternatives for the answer 1o every question. For each question for which a wrong |

|

| answer has been given by the candidate, one-third of the marks assigned to that question will be

| deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one b

of the given answers happens to be correct and there will be same penalty as above 10 that

| question. |
(iii) If a question is left blank, i.e., N0 answer is given by the candidate, there will be no penalty for that

i question. i

ARE TOLD TO DO SO.]
g3 BT R |
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